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THE MAJORITY CRITERION


If a choice receives a majority of the first-place votes in an election (this means more than a half of the votes), then that choice should be the winner of the election.


THE CONDORCET CRITERION


If there is a choice that in a head-to-head comparison is preferred by the voters over every other choice, then that choice should be the winner of the election.


THE MONOTONICITY CRITERION


If a choice X is a winner of an election and, if in a reelection, the only changes in the ballots are changes that only favor X, then X should remain a winner of the election.


THE Independence-of-Irrelevant-Alternatives CRITERION


If choice X is a winner of an election and one (or more) of the other choices (candidates) is removed and the ballots recounted, then X should still be a winner of the election.


Arrow’s impossibility theorem (1952 – Kenneth Arrow)


It is mathematically impossible for a democratic voting method to satisfy all of the fairness criteria!!!

CONCLUSION:


No matter how hard we look for it, there can be no perfectly fair voting method. Ironically, total and consistent fairness is inherently impossible in a democracy!!!






